Chapter 18

True/False
Indicate whether the statement is true or false.

____	1.	Sometimes also known as transaction taxes, Federal gift and estate taxes are excise taxes.

____	2.	A lifetime transfer that is supported by full and adequate consideration is not a gift.

____	3.	One of the reasons the estate tax was enacted was to prevent the avoidance of the gift tax by the making of “deathbed gifts.”

____	4.	At one point, the tax rates applicable to transfers by gift were lower than those applying to transfers by death.

____	5.	Some states impose inheritance taxes, but the Federal tax system does not.

____	6.	An estate tax is a tax on the right of an heir to receive property on the death of the owner.

____	7.	A few states impose both an estate tax and an inheritance tax.

____	8.	In some cases, the Federal gift tax can be imposed on someone other than the donor.

____	9.	José, a citizen and resident of Panama, makes a gift of ExxonMobil stock to his children. Because ExxonMobil is a U.S. corporation, José will be subject to the U.S. Federal gift tax.

____	10.	Kim, a resident and citizen of Korea, dies during an operation at the Mayo Clinic in Rochester (MN). Because Kim died in the U.S., he will be subject to the Federal estate tax.

____	11.	Paul, a U.S. citizen, will avoid the Federal estate tax if he becomes a Canadian resident and owns no property located in the U.S. at the time of his death.

____	12.	Becky made taxable gifts in 1974, 2010, and 2011. In computing the gift tax on the 2011 gift, she must consider all of the prior taxable gifts.

____	13.	For Federal estate tax purposes, the gross estate may include property the decedent does not own.

____	14.	For Federal estate tax purposes, the gross estate does not include property that will pass to a surviving spouse.

____	15.	For both the Federal gift and estate tax, a deduction is allowed for certain transfers to charity.

____	16.	In the past, the amount of the unified tax credit has been the same for both transfers by gift and transfers by death.

____	17.	If the value of the gross estate is lower on the alternate valuation date than on the date of death, then the alternate valuation must be used.

____	18.	For Federal estate and gift tax purposes, the exclusion amount is the same thing as the exemption equivalent.

____	19.	Under the alternate valuation date election, each asset in the gross estate is valued at the lesser of the date of death value or six months thereafter.

____	20.	Daniel’s will provides that all of his property passes to a trust, life estate to his wife, remainder to charity. If Daniel’s executor does not make a QTIP election, the use of the alternate valuation date is possible.

____	21.	The election of the alternate valuation date cannot  affect the amount of a charitable deduction allowed to an estate for a bequest to a qualified charity.

____	22.	The election of the alternate valuation date does not include any income earned by the property after the date the deceased owner died.

____	23.	A father wants to give a parcel of land to his two children. If he wants the survivor to have sole ownership, he should list ownership of the property as joint tenants.

____	24.	The death of a tenant in common will defeat his or her interest in the property.

____	25.	In community property states, all property acquired after marriage by either spouse is community property.

____	26.	Sandy pays a local college for her non-dependent boyfriend’s tuition. The payment is not subject to the Federal gift tax.

____	27.	Barry pays State University for his daughter’s room and board. Barry has made a transfer that is subject to the Federal gift tax.

____	28.	Transfers to political organizations are not exempt from the application of the Federal gift tax.

____	29.	Pauline sells antique furniture to her daughter, Nicole, for $10,000. If the furniture is really worth $100,000, Pauline has made a gift to Nicole of $100,000.

____	30.	Mitch pays the surgeon and the hospital for his aunt’s gall bladder operation. The transfer is not subject to the gift tax.

____	31.	Sam purchases a U.S. savings bond which he registers as follows: “Sam, payable to Don upon Sam’s death.” A gift occurs when Sam dies.

____	32.	If interest is provided for in loans between related parties, there is no imputed interest, as a gift loan does not result.

____	33.	For gift tax purposes, a property settlement in consideration of marriage (i.e., prenuptial agreement) is not treated the same as a property settlement incident to a divorce.

____	34.	A timely issued disclaimer by an heir transfers the property to someone else without a Federal gift tax result.

____	35.	Under his grandfather’s will, Tad is entitled to receive shares of Kroger Corporation. For Federal tax purposes, Tad is allowed to disclaim some of these shares and accept the others.

____	36.	A transfer in trust in which the trustee has the power to accumulate income is not a gift of a future interest if the trustee never exercises the power.

____	37.	In 2011, grandparents contribute jointly owned funds to a § 529 qualified tuition plan on behalf of their granddaughter. The maximum annual exclusion allowed to them is $130,000 ($26,000  5 years).

____	38.	Although qualified tuition plans under § 529 are treated favorably for gift tax purposes, such plans are subject to estate tax consequences upon the grantor’s death.

____	39.	To make the election to split gifts under § 2513, spouses must file a Form 709 (Federal gift tax return).

____	40.	A husband and wife make a gift of their vacation home to their adult children. If the property is owned jointly by them, the gift-splitting election need not be made.

____	41.	Under certain circumstances, the gift-splitting election can be made even though the electing spouses are no longer married to each other.

____	42.	The use of the election to split gifts under § 2513 may be necessary for spouses who live in community property states.

____	43.	If a donor has a fiscal year of July 1-June 30 for income tax purposes, this changes the normal filing date for Form 709.

____	44.	A Federal gift tax return may have to be filed even if no gift tax is payable.

____	45.	Iris dies intestate (i.e., without a will). All of her property passes to her heirs in accordance with the order of distribution prescribed under Federal law.

____	46.	In most cases, the gross estate of a decedent is larger than the probate estate.

____	47.	Interest on state and local bonds is subject to neither the Federal income tax nor the Federal estate tax.

____	48.	In determining whether a dividend issued on stock held by a decedent is included in the gross estate, the record date (rather than the declaration or payment dates) controls.

____	49.	At the time of her death, Rita held a promissory note from a loan she had made to her son. Even if Rita’s will forgives the loan, the note is included in her gross estate.

____	50.	At the time of his death, Gene held a Roth IRA account with his wife as the designated beneficiary. The IRA is included in Gene’s gross estate.

____	51.	A surviving spouse’s share of the community property is not included in the deceased spouse’s gross estate.

____	52.	For estate tax purposes, a surviving spouse’s share of the community property is handled in the same manner as a surviving spouse’s dower interest.

____	53.	In 2009, Katherine made some taxable gifts upon which she paid a Federal gift tax of $96,000. If Katherine dies in 2011, the $96,000 is included in her gross estate under the “gross up” rule.

____	54.	In 2000, Irv creates a revocable trust, income payable to his children for life, remainder to his grandchildren.  In 2007, Irv relinquishes the power to revoke the trust. If Irv dies in 2011, the trust is not included in his gross estate.

____	55.	Cary and Bo are husband and wife. Using their community funds, they create a trust, life estate to Bo, remainder to their children. Four years later, Bo predeceases Cary. Nothing as to this trust is included in Bo’s gross estate.

____	56.	Using his separate funds, Wilbur purchases an annuity which pays him a specified amount until death. Upon Wilbur’s prior death, a reduced amount is to be paid to Marcia for her life. Marcia predeceases Wilbur. Nothing concerning the annuity contract is included in Marcia’s gross estate.

____	57.	Death does not defeat a deceased spouse’s interest in a tenancy by the entirety.

____	58.	In 2010 and with $100,000, Ronald establishes a joint savings account with his cousin, Allison.  In 2011, Allison withdraws the $100,000 and disappears.  Ronald made a gift to Allison in 2011.

____	59.	Two brothers, Sam and Bob, acquire real estate as equal tenants in common. Of the purchase price of $200,000, Sam furnished $80,000 while Bob provided the balance. If Sam dies first ten years later when the real estate is worth $600,000, his estate includes $240,000 as to the property.

____	60.	Harry and Brenda are husband and wife. Using his funds, Harry purchases real estate which he lists as: “Harry and Brenda, tenants by the entirety with right of survivorship.” If Harry dies first, all of the real estate will be included in his gross estate.

____	61.	Harry and Brenda are husband and wife. Using his funds, Harry purchases real estate which he lists as: “Harry and Brenda, tenants by the entirety with right of survivorship.” If Brenda dies first, none of the value of the real estate will be included in her gross estate.

____	62.	Lyle and Beatrice are brother and sister. Using his funds, Lyle purchases land, listing title as: “Lyle and Beatrice, joint tenants with right of survivorship.” If Lyle dies first, all of the land is included in his gross estate.

____	63.	Ray purchases U.S. savings bonds which he lists as “Ray and Donna” as co-owners. Donna is Ray’s daughter. Donna predeceases Ray. No gift or estate tax consequences result from this situation.

____	64.	Reba purchases U.S. savings bonds which she lists in the name of Rod, Reba’s son. The purchase of the bonds does not constitute a gift.

____	65.	Under the terms of a trust created by Billie, Jody (Billie’s brother) has the right to determine how its income is to be divided among Billie’s children. Jody holds a general power of appointment.

____	66.	At the time of her death, Abigail held a general power of appointment over a trust created by her grandmother in 1990. Since Abigail never exercised the general power, none of the trust is included in her gross estate.

____	67.	Rachel owns an insurance policy on the life of Albert with Belle as the designated beneficiary. Upon Rachel’s prior death, nothing regarding this policy is included in her gross estate.

____	68.	Frank owns an insurance policy on the life of Cynthia, with Leon as the designated beneficiary. Upon Cynthia’s prior death, Frank is treated as making a gift of the insurance proceeds to Leon.

____	69.	Georgia owns an insurance policy on the life of Jake, with Scarlet as the designated beneficiary. Upon Scarlet’s prior death, no transfer tax consequences result.

____	70.	At the time of his death in 2011, Leroy owed Federal income taxes on income earned in 2009. Leroy’s estate cannot claim an estate tax deduction for the income tax it pays.

____	71.	In arriving at the taxable estate, expenses incurred in administering community property are deductible only in proportion to the deceased spouse’s interest in the community.

____	72.	At the time of her death in 2011, Emma still owed $36,000 on her church pledge for the year. Even if church pledges are not an enforceable obligation in the state where Emma resided, her estate can claim a deduction for the $36,000 it later pays.

____	73.	As a result of an auto accident from which she later died, Irene totaled a Bentley worth $95,000. If the insurance company covers $60,000 of the loss, Irene’s estate can claim a deduction of $35,000 in arriving at the taxable estate.

____	74.	At the time of his death, Hal owned 10 cemetery lots worth $40,000 ($4,000 each) for use by himself and his family. These lots are included in Hal’s gross estate and a deduction of $4,000 is allowed the estate.

____	75.	Some of the charitable organizations that qualify for estate tax purposes do not qualify for income tax purposes.

____	76.	In his will, Hernando provides for $50,000 to go to the Madrid, Spain, school system. Even though it is a foreign charity, the bequest will qualify as a charitable deduction for estate tax purposes.

____	77.	Manfredo makes a donation of $50,000 to the church where he was baptized in Mexico City. The gift does qualify as a charitable contribution for Federal income tax purposes.

____	78.	The purpose of the marital deduction is to place married decedents in common law states on par with those in community property jurisdictions.

____	79.	At the time of his prior death, Raul owned a residence with his wife, Manuela, as tenants by the entirety. The residence was purchased by Manuela ten years ago at a cost of $300,000 and has a fair market value of $1.4 million. Raul’s estate will be allowed no marital deduction as to the property.

____	80.	Sally’s will passes real estate to Otto (her surviving spouse). The real estate is worth $800,000 but is subject to a mortgage of $200,000. The transfer provides Sally’s estate with a marital deduction of $600,000.

____	81.	Lila is the owner and beneficiary of a policy on the life of her husband, Austin.  Upon Austin’s prior death, the insurance proceeds paid to Lila do not qualify for the marital deduction.

____	82.	To avoid the terminable interest limitation on the marital deduction, the surviving spouse must be granted a general power of appointment over the trust property, and a QTIP election must be made.

____	83.	By his will, all of Rusty’s property passes outright to his wife, Patsy. As Patsy was not given a general power of appointment or Rusty’s executor did not make a QTIP election, Rusty’s estate is not allowed a marital deduction.

____	84.	In the case of a transfer by gift, a QTIP election causes the property to be subject to the estate tax upon the death of the donee spouse.

____	85.	A marital deduction can be allowed even if the surviving spouse is a nonresident alien.

____	86.	The current top Federal transfer tax rate of 35% is the highest that the rate ever has been.

____	87.	The current Federal transfer tax rate of 35% is as low as any top rate that ever has been imposed.

____	88.	The current $5 million exemption equivalent applies to both the Federal estate and gift taxes.

____	89.	The current $5 million exemption equivalent is not permanent but is scheduled to expire after 2012.

____	90.	Since the credit for state death taxes paid (under § 2011) has been eliminated, no tax relief is available to an estate that is subject to both Federal and state death taxes.

____	91.	Sidney dies and leaves property to his sister Giselle. Thirty months later, Giselle dies. Under § 2013 (credit for tax on prior transfers), Giselle’s estate can claim a full credit for any Federal estate taxes paid by Sidney’s estate as to amounts passing to Giselle.

____	92.	In 2000, Katelyn inherited considerable property when her father died.  When Katelyn dies in 2011, her estate may be able to use § 2013 (credit for tax on prior transfers) as to some of the estate taxes paid by her father’s estate.

____	93.	At the time of Dylan’s death, he was a resident of Newark. He owns land located in a foreign country, which is subject to that country’s death tax. This same land also can be subject to the Federal estate tax.

____	94.	The U.S. has death tax conventions (i.e., treaties) with most of the countries of the world.

____	95.	Eric dies at age 96 and is survived by his third wife, Monique (age 22), and a granddaughter, Paula (age 50).  Eric’s will divides his $11 million estate between these two survivors. Both of these transfers are subject to the generation skipping transfer tax (GSTT).

____	96.	Peggy gives $200,000 to her grandson.  This is an example of a direct skip for purposes of the GSTT (generation-skipping transfer tax).

Multiple Choice
Identify the choice that best completes the statement or answers the question.

____	1.	Which, if any, of the following is not a characteristic of the Federal gift tax?
	a.
	The alternate valuation date of § 2032 can be elected.

	b.
	A charitable deduction is available.  

	c.
	A disclaimer procedure may avoid the tax.

	d.
	A marital deduction is available.

	e.
	None of the above.




____	2.	Which, if any, of the following is not a characteristic of the Federal estate tax?
	a.
	A foreign tax credit is available.

	b.
	A credit for tax on prior transfers may be available.

	c.
	Pre-1977 taxable gifts need to be considered.

	d.
	A charitable deduction is available.

	e.
	None of the above.




____	3.	Which of the following is not a characteristic of both the Federal gift tax and the Federal estate tax?
	a.
	A charitable deduction is available.

	b.
	A deduction for state death taxes may be available.

	c.
	A marital deduction is available.

	d.
	An exclusion amount is available in computing the tax.

	e.
	None of the above.




____	4.	In determining the Federal gift tax on a current gift:
	a.
	Disregard taxable gifts made after 1976.

	b.
	Disregard taxable gifts made before 1977.

	c.
	Include all prior gifts.

	d.
	Claim a credit only for the gift taxes actually paid.

	e.
	None of the above.




____	5.	Concerning the formula for the Federal estate tax:
	a.
	The tax base results after any post-1976 taxable gifts are subtracted from the taxable estate.

	b.
	The taxable estate is determined without reduction for any state death taxes paid.

	c.
	Income tax owed by the decedent at the date of death is deducted in arriving at the taxable estate.

	d.
	A separate $5 million exclusion amount is available for each of the Federal gift tax, estate tax, and generation-skipping tax.

	e.
	None of the above statements is true.




____	6.	In which of the following situations is Polly’s property ownership interest not lost by her prior death?
	a.
	Tenancy by the entirety.

	b.
	Tenancy in common.

	c.
	Joint tenancy.

	d.
	Life estate in an irrevocable trust.

	e.
	Annuitant in a straight-life annuity




____	7.	Which, if any, of the following items is subject to indexation (adjusted to reflect inflation)?
	a.
	Monetary amount required to elect the alternate valuation date under § 2032.

	b.
	Unified transfer tax credit.

	c.
	Unified transfer tax rates.

	d.
	Annual exclusion.  

	e.
	Choice b. and d. but not a. and c.




____	8.	Which, if any, of the following statements correctly reflects the rules applicable to the alternate valuation date (i.e., § 2032)?
	a.
	The election is made by the executor.

	b.
	Can be elected even though no estate tax return (i.e., Form 706) has to be filed.

	c.
	Can be elected only if it reduces the amount of the gross estate or reduces the estate tax liability.

	d.
	Its election does not affect the income tax basis of property included in the gross estate.

	e.
	None of the above.




____	9.	In which, if any, of the following independent situations can the alternate valuation date be elected?
	Value of Gross Estate	Estate Tax Result
	Date of 	Alternate	Date of	Alternate
	Death	Date	Death	Date
	a.
	$6,000,000                   $6,100,000                      $400,000                      $390,000

	b.
	$5,900,000                   $5,800,000                      $400,000                      $380,000

	c.
	$6,100,000                   $6,000,000                      $390,000                      $400,000

	d.
	$6,200,000                   $6,300,000                      $500,000                      $490,000

	e.
	None of the above




____	10.	At the time of his death, Trent owned some common stock.

	
	  Date of Death
	Value Six   

	
	      Value      
	Months Later

	Agua Corporation
	$1,500,000
	$1,100,000

	Orange Corporation
	1,300,000
	1,400,000



The Aqua Corporation stock is sold by the executor of the estate seven months after Trent’s death for $1,300,000. If the alternate valuation date is properly elected, the value of Trent’s estate as to these stocks is:
	a.
	$2,300,000.

	b.
	$2,400,000.

	c.
	$2,500,000.

	d.
	$2,700,000.

	e.
	None of the above.




____	11.	In which, if any, of the following independent situations has Jean made a gift?
	a.
	Jean gives her 19-year old son $20,000 to be used by him for his college expenses.

	b.
	Jean buys her grandfather a new $120,000 RV for his birthday.

	c.
	Jean sends $14,000 to Temple University to cover her nephew’s tuition. The nephew does not qualify as Jean’s dependent.

	d.
	Jean contributes $10,000 to her Congressman’s reelection campaign.

	e.
	None of the above.




____	12.	In which, if any, of the following independent situations has Fred made a gift?
	a.
	Fred established a revocable trust, income payable to himself for life and, upon his death, remainder to his children.

	b.
	Fred dies owning a U.S. savings bond with ownership listed as: “Fred, payable to Sue on Fred’s death.” Sue redeems the bond.

	c.
	Fred sends $25,000 to Alice’s oral surgeon in payment of her dental implants. Alice is Fred’s sister and does not qualify as his dependent.

	d.
	Fred pays Eva $800,000 in a property settlement of her marital rights. One month later Fred and Eva are divorced.

	e.
	None of the above.




____	13.	In which of the following situations has a gift occurred?
	a.
	Heidi creates a revocable trust, income payable to herself, remainder to her children.

	b.
	Herman establishes a joint savings account with his sister.

	c.
	After Herman’s death, his sister withdraws the funds he placed in their joint savings account.

	d.
	The day before their marriage, Eva gives Arlan $500,000 in securities.

	e.
	None of the above.




____	14.	Stacey inherits unimproved land (fair market value of $6 million) from her father on June 1, 2010.  Martha disclaims her interest in the property as follows:  one-third on December 1, 2010; one-third on January 3, 2011; and the remaining one-third on May 31, 2011.  In all cases, the disclaimers pass the interest to her son (the next heir under state law).  The Federal gift tax applies to Stacey for:
	a.
	All of the disclaimers.

	b.
	The disclaimer made in 2010.

	c.
	The disclaimers made in 2011.

	d.
	The May 31, 2011 disclaimer.

	e.
	None of the disclaimers.




____	15.	Before his nephew (Dean) leaves for college, Will loans him $400,000. Dean signs a note promising to repay the loan in five years. No interest element is provided. Which, if any, of the following is a tax consequence of this arrangement?
	a.
	Will has not made a gift to Dean of the interest element.

	b.
	Will has an interest expense deduction as to the interest element.

	c.
	Dean has interest income as to the interest element.

	d.
	Dean may be allowed an income tax deduction as to the interest element.

	e.
	None of the above.




____	16.	Which of the following statements relating to the Federal gift tax is incorrect?
	a.
	The deemed paid credit allowed for a prior taxable gift cannot be less than the gift tax that was actually paid.

	b.
	The issuance of an effective disclaimer by an heir will pass the property to another without being subject to the Federal gift tax.

	c.
	The annual exclusion is not available for gifts of future interests.

	d.
	Up to 5 years of annual exclusions can be available for gifts involving § 529 plans (qualified tuition programs).

	e.
	None of the above.




____	17.	Concerning the election to split gifts under § 2513, which of the following statements is incorrect?
	a.
	The election can be made even if the parties are not married for the entire year of the gift.

	b.
	The election does not take into account any prior taxable gifts made by either spouses.

	c.
	The election doubles the number of annual exclusions available.

	d.
	The election has utility in a community property jurisdiction.

	e.
	The election can be made even if the parties are divorced as long as neither spouse has remarried by the end of the year.




____	18.	Which, if any, of the following is a correct statement regarding the filing of a gift tax return (Form 709)?
	a.
	A donor must file a Form 709 in the same year in which the gift was made.

	b.
	The due date of a Form 709 is the same as the due date of the donor’s Form 1040.

	c.
	A Form 709 may have to be filed even though the value of the gift was less than the amount of the annual exclusion.

	d.
	Melody gives her husband a new Mercedes convertible for his birthday. Melody must file a Form 709 to report the gift even though no gift tax results.

	e.
	None of the above.




____	19.	Mark dies on March 3, 2011.  Which, if any, of the following items is not included in his gross estate?
	a.
	Interest earned (after death) on City of Cleveland bonds.

	b.
	Cash dividend on stock owned by Mark—declaration date was February 4, 2011, and record date was March 2, 2011.

	c.
	Federal income tax refund for 2010—received on March 4, 2011.

	d.
	Insurance recovery on auto accident that occurred on February 25, 2011.

	e.
	Insurance recovery from theft of sailboat on March 1, 2011.




____	20.	Andrea dies on April 30, 2011.  Which, if any, of the following items is included in her gross estate?
	a.
	Rents for the month of May (received on May 2) on an apartment building she owned.  The alternate valuation date of § 2032 is not elected.

	b.
	Rents for the month of May (received on May 2) on an apartment building she owned.  The alternate valuation date of § 2032 is elected.

	c.
	Insurance recovery from a fire which occurred on November 1, 2010, and destroyed Andrea’s residence.

	d.
	A loan made by Andrea to her daughter (who is a successful dentist) and forgiven by Andrea in her will.

	e.
	Choices c. and d. but not a. and b.




____	21.	At the time of his death, Norton was involved in the following transactions.

	
	Owned land in joint tenancy with Emily. The land is worth $600,000 and was purchased by Emily 20 years ago for $150,000.

	
	

	
	Owned land in a tenancy by the entirety with Amy. The land is worth $800,000 and was purchased by Amy five years ago for $450,000.

	
	

	
	Owned land in an equal tenancy in common with Noah. The land is worth $400,000 and was purchased by Norton four years ago for $300,000.

	
	

	
	Owned City of Dayton bonds worth $500,000.



What amount is included in Norton’s gross estate?
	a.
	$700,000.

	b.
	$900,000.

	c.
	$1,100,000.

	d.
	$1,500,000.

	e.
	None of the above.




____	22.	At the time of her death on October 4, 2011, Kaitlyn was involved in the following transactions.

	
	Was the sole life beneficiary of a trust (assets worth $2 million) created 10 years ago by Paul (Kaitlyn’s husband). The transfer was by gift of securities then worth $500,000 (Paul made a QTIP election). Paul and Kaitlyn’s children are the remainder persons.

	
	

	
	Owned stock in Mauve Corporation (basis of $800,000 and fair market value of $1 million). On September 8, 2011, a dividend of $48,000 was declared on the stock payable to all shareholders on record as of October 3, 2011. The $48,000 was received by Kaitlyn’s executor on October 20, 2011.

	
	

	
	Kaitlyn made a taxable gift of $400,000 in 2002.



As to these transactions, Kaitlyn’s gross estate includes:
	a.
	$3,048,000.

	b.
	$3,000,000.

	c.
	$1,448,000.

	d.
	$1,048,000.

	e.
	None of the above.




____	23.	At the time of his death, Jason was a participant in Silver Corporation’s qualified pension plan and group term life insurance. The balance of the survivorship feature in his pension plan is:

	Contributions by Silver
	$800,000

	Contributions by Jason
	400,000

	Plan earnings
	300,000



The term insurance has a maturity value of $100,000. All amounts are paid to Pam, Jason’s daughter. One result of these transactions is:
	a.
	Pam must pay income tax on $300,000.

	b.
	Pam must pay income tax on $1,500,000.

	c.
	Jason’s gross estate must include $1,100,000.

	d.
	Jason’s gross estate must include $1,600,000.

	e.
	None of the above.




____	24.	Prior to his death in 2011, Alma made the following gifts.

	
	
	Fair Market Value

	Year
	Asset
	Date of Gift
	Date of Death

	2007
	Marketable securities
	$400,000
	$900,000

	2009
	Term life insurance policy
	       –0–
	 100,000

	2010
	Unimproved land
	 900,000
	 950,000



As a result of the 2010 transfer, Alma paid a gift tax of $70,000.  As to these transactions, Alma’s gross estate includes:
	a.
	$0.

	b.
	$70,000.

	c.
	$100,000.

	d.
	$170,000.

	e.
	$1,120,000.  




____	25.	In 2009, Glen transferred several assets by gift to different persons. Glen dies in 2011. Information regarding the properties given is summarized below.

	
	Fair Market Value

	
	Date of Gift
	Date of Death

	Insurance policy on Glen’s life
	$ 20,000
	$200,000

	Unimproved land
	 890,000
	  900,000

	Stocks and bonds
	 600,000
	  800,000



The transfer of the land and the stocks and bonds resulted in a total gift tax of $60,000. As to these transactions, Glen’s gross estate must include:
	a.
	$0.

	b.
	$200,000.

	c.
	$260,000.

	d.
	$1,900,000.

	e.
	$1,960,000.




____	26.	At the time of his death, Lance held a life estate in the LM Trust.  Under which of the following circumstances will the LM Trust be included in his gross estate?
	a.
	The trust was created by Lance’s deceased wife and the executor of her estate did not make a QTIP election.

	b.
	The trust was created by Lance’s father.

	c.
	The trust was created by Lance and is irrevocable.

	d.
	The trust was created by Lance and was revocable.  He released the power to revoke four years before his death.

	e.
	Choices c. and d. but not a. and b.




____	27.	At the time of her death, Megan was involved in the following.

	
	Owned an insurance policy on the life of her father with a replacement cost of $250,000 and maturity value of $800,000. The designated beneficiary of the policy is Megan’s estate.

	
	

	
	Was an equal tenant in common with her brother in a tract of land worth $800,000. The land was inherited from their grandmother 10 years ago when it had a value of $200,000.

	
	

	
	Was a joint tenant with her two sisters in stock worth $1,500,000. The stock was inherited from their grandmother 10 years ago when it had a value of $500,000.



As to these transactions, Megan’s gross estate must include:
	a.
	$250,000.

	b.
	$1,150,000.

	c.
	$1,400,000.

	d.
	$2,150,000.

	e.
	None of the above.




____	28.	In 1980, Mandy and Hal (mother and son) purchased land for $600,000 as joint tenants with right of survivorship. Of the $600,000 purchase price, Mandy provided $300,000 and Hal $300,000 (of which $200,000 had been received as a gift from Mandy). In 2011, Hal dies first when the land is worth $3,000,000. As to the land, Hal’s gross estate must include:
	a.
	$500,000.

	b.
	$1,500,000.

	c.
	$2,500,000.

	d.
	$3,000,000.

	e.
	None of the above.




____	29.	In 1995, Thalia purchases land for $900,000 and lists title in the names of her daughters as follows:  “April and Theresa, joint tenants with right of survivorship.” In 1999, April and Theresa purchase an apartment building for $1 million as equal tenants in common; April furnished $400,000 and Theresa furnished $600,000 of the cost. In the current year, April dies first in 2011 when the land is worth $1.5 million and the apartment building is worth $2 million. One of the results of these transactions is:
	a.
	April made a gift to Theresa of $100,000 in 1999.

	b.
	None of the land is included in April’s gross estate.

	c.
	April’s gross estate includes $800,000 (40%  $2 million) as to the apartment building.

	d.
	April’s gross estate includes $1,750,000 as to these properties.

	e.
	None of the above.




____	30.	Tom and Jean are husband and wife and live in California. In 1991, they use $400,000 of community funds to purchase an annuity from an insurance company. Under the terms of the contract, Tom is to receive $40,000 per year for life once he reaches age 65. If Jean outlives Tom, she is to receive $30,000 per year for life. Tom dies first in 2011 (and before reaching age 65). At this time, the value of Jean’s interest is $500,000. As to this contract, Tom’s gross estate includes:
	a.
	$0.

	b.
	$200,000.

	c.
	$250,000.

	d.
	$500,000.

	e.
	None of the above.




____	31.	Don and Roxana are husband and wife and live in a common law state.  Pursuant to the estate tax rules applicable to annuities (§ 2039), which of the following is not a correct statement?
	a.
	Don has a straight-life unmatured annuity.  Upon his death, none of the annuity is included in his gross estate.

	b.
	Don’s retirement plan, to which his employer contributed 50%, is in the form of an annuity with a survivorship feature covering Roxana.  Upon Don’s prior death, 50% of the value of the survivorship feature is included in his gross estate.

	c.
	Don has an annuity with a survivorship feature covering Roxana and to which she contributed 50% of the premiums.  Upon Don’s prior death, only 50% of the value of the survivorship feature is included in his gross estate.

	d.
	Don has an annuity with a survivorship feature covering Roxana.  If Roxana dies first, nothing regarding the annuity is included in her gross estate.

	e.
	None of the above statements are false.




____	32.	Matt and Patricia are husband and wife and live in Oregon. In 1980 and using her funds, Patricia purchases a residence for $400,000, listing title to the property as “Matt and Patricia, joint tenants with right of survivorship.” In 2011, Matt dies first when the residence is worth $2 million. A correct statement as to these transactions is:
	a.
	In 2011, Matt’s gross estate includes $1 million and a marital deduction of $1 million is allowed for estate tax purposes.

	b.
	In 1980, Patricia made a gift to Matt but no marital deduction is available for gift tax purposes. 

	c.
	In 1980, Patricia did not make a gift to Matt.

	d.
	In 2011, Matt’s estate includes nothing as to the property.

	e.
	None of the above.




____	33.	Gerald and Pat are husband and wife and live in New York. Using joint funds, in 1990 they purchase an insurance policy on Gerald’s life and designate their daughter, Marie, as the beneficiary. The policy has a maturity value of $4,000,000. Gerald dies first in 2011 and the insurance proceeds are paid to Marie. As to the proceeds:
	a.
	Gerald’s taxable estate includes $0, and no other tax consequences ensue.

	b.
	Gerald’s taxable estate includes $4,000,000.

	c.
	Gerald’s taxable estate includes $2,000,000, and Pat makes a gift to Marie of $2,000,000.

	d.
	Gerald’s taxable estate includes $0, and Pat makes a gift of $4,000,000 to Marie. 

	e.
	None of the above




____	34.	Homer and Laura are husband and wife. At the time of Homer’s prior death in 2011, they owned the following: land as tenants by the entirety worth $2,000,000 (purchased by Homer) and stock as equal tenants in common worth $3,000,000 (purchased by Laura). Laura also owns an insurance policy on Homer’s life (maturity value of $1,000,000) with herself as the designated beneficiary. Homer’s will passes all his property to Laura. How much marital deduction is allowed Homer’s estate?
	a.
	$2,000,000.

	b.
	$2,500,000.

	c.
	$3,500,000.

	d.
	$4,500,000.

	e.
	None of the above.




____	35.	In 1985, Drew creates a trust with $1,000,000 of securities. Under the terms of the trust, Paula (Drew’s wife) is granted a life estate with remainder to their children. Drew makes a QTIP election as to the trust. Drew dies in 1992 when the trust is worth $1,500,000, and Paula dies in 2011 when the trust is worth $2,000,000. Which, if any, of the following is a correct statement?
	a.
	The trust is included in Drew’s gross estate when he dies in 1992.

	b.
	None of the trust is included in Paula’s gross estate when she dies in 2011.

	c.
	Drew gets a marital deduction in 1985.

	d.
	Only $1,000,000 of the value of the trust is included in Paula’s gross estate when she dies in 2011.

	e.
	None of the above.




____	36.	June made taxable gifts as follows: $400,000 in 1973, $200,000 in 1977, $600,000 in 1985, and $700,000 in 2001. In 2011, June dies leaving a taxable estate of $4,000,000. June’s tax base for applying the unified tax rate schedules (for estate tax purposes) is:
	a.
	$4,000,000.

	b.
	$4,500,000.

	c.
	$5,300,000.

	d.
	$5,500,000.

	e.
	None of the above.




____	37.	Regarding the transfer tax credits available, which of the following statements is correct?
	a.
	For 2010, the gift tax and estate tax credits are the same amount. 

	b.
	For 2009 and 2010, the gift tax credit is not the same amount for both years.

	c.
	For 2011, the gift tax and estate tax credits are not the same amount.

	d.
	For 2013, the scheduled credits for gift and estate taxes will not be the same amount.

	e.
	None of the above.




____	38.	Pursuant to Corey’s will, Emma (Corey’s sister) inherits his property.  Emma dies later.  The estate tax attributable to the inclusion of the property in Corey’s gross estate was $300,000.  The estate tax attributable to the inclusion of the property in Emma’s gross estate is $400,000.  Emma’s credit for the tax on prior transfers (under§ 2013) is:
	a.
	$0 if Emma died 9 1/2 years after Corey.

	b.
	$32,000 if Emma died 3 years after Corey.

	c.
	$40,000 if Emma died 1 year after Corey.

	d.
	$24,000 if Emma died 5 1/2 years after Corey.

	e.
	None of the above amounts is correct.




Matching

Match each statement with the correct choice. Some choices may be used more than once or not at all.
	a.
	In the current year, Debby, a widow, dies. Two years ago she inherited a large amount of wealth from her brother.

	b.
	Scheduled to be eliminated by 2010.

	c.
	Exists only if owners are husband and wife.

	d.
	A type of state tax on transfers by death.

	e.
	A certificate of deposit listed as “B. Brown, payable on proof of death to my daughter, Evelyn.”

	f.
	Annual exclusion not allowed.

	g.
	Cumulative in effect.

	h.
	Right of survivorship present as to type of ownership.

	i.
	Avoids the terminable interest rule of the marital deduction.

	j.
	Exemption equivalent.

	k.
	Alternate valuation date.

	l.
	No correct match provided.




____	1.	Payable-on-death transfers

____	2.	Exclusion amount

____	3.	Federal gift tax  

____	4.	Inheritance tax

____	5.	QTIP election

____	6.	Tenancy by the entirety

____	7.	Joint tenancy

____	8.	Tenancy in common  

____	9.	Community property  

____	10.	Credit for tax on prior transfers (under § 2013)

____	11.	Must decrease the estate tax liability

____	12.	Future interest

Classify each statement appearing below.
	a.
	No taxable transfer occurs

	b.
	Gift tax applies 

	c.
	Estate tax applies 




____	13.	Hector transfers funds to his aunt so she can obtain a much needed heart bypass operation. The aunt does not qualify as Hector’s dependent.

____	14.	Under a prenuptial agreement, Herbert transfers stock to Norma. One month later, Herbert and Norma are married.

____	15.	In full settlement of her marital rights, Henry transfers property to his wife, Nancy. Three months later, Henry and Nancy are divorced.

____	16.	Harry pays for the tuition for his niece to attend Drake University. The niece does not qualify as Harry’s dependent.

____	17.	Hugh loans his adult daughter, Nadia, $800,000 to start her own business. No interest is provided for, and Nadia signs a note that is payable in four years.

____	18.	Hugh loans his adult daughter, Nadia, $800,000 to start her own business. Market rate interest is provided for, and Nadia signs a note that is payable in four years. Hugh dies two years later and, in his will, cancels the note. Nadia’s business proved to be successful.

____	19.	Under her father’s will, Faith is to receive 10,000 shares of GE common stock. Eight months after her father’s death, Faith disclaims 5,000 shares.

____	20.	Under her father’s will, Faith is to receive 10,000 shares of GE common stock. Ten months after her father’s death, Faith disclaims the 10,000 shares.

____	21.	Darlene holds a special power of appointment over the income from a trust created by her brother. During the year, Darlene exercises the power in favor of one of the beneficiaries designated in the trust instrument.

____	22.	Darlene holds a general power of appointment over the income from a trust created by her brother. Darlene dies during the year without having exercised the power. The income is distributed to children of the brother in accordance with the terms of the trust instrument.

____	23.	Van takes out an insurance policy on his life and designates Van as the beneficiary. Van dies first.

____	24.	Van takes out an insurance policy on Myrna’s life and designates himself as the beneficiary. Myrna is Van’s wife. Two years later, Myrna dies, and Van collects the insurance proceeds.

Classify each statement appearing below.
	a.
	No taxable transfer occurs

	b.
	Gift tax applies

	c.
	Estate tax applies 




____	25.	Homer purchases a U.S. savings bond listing title as: “Homer, payable to Bernice upon Homer’s death.” Bernice is Homer’s sister.

____	26.	Homer purchases a U.S. savings bond listing title as: “Homer, payable to Bernice upon Homer’s death.” Bernice is Homer’s sister. Homer dies four years later, and Bernice cashes in the bond and keeps the proceeds.

____	27.	Howard establishes a trust, life estate to his children, remainder to the grandchildren. Under its terms, the trust is revocable by Howard.

____	28.	Howard establishes a trust, life estate to his children, remainder to the grandchildren. Under its terms, the trust is revocable by Howard. Howard later relinquishes the right to revoke the trust.

____	29.	Meg gives her 18-year-old son money for his college tuition and living expenses (e.g., room and board).

____	30.	Clarence pays the medical providers (e.g., physicians, hospital) for his aunt’s gall bladder operation. The aunt does not qualify as Clarence’s dependent.

____	31.	Cash donation to the reelection campaign of a member of the U.S. Congress.

____	32.	Maggie purchased an insurance policy on Jim’s life and designated Susan as the beneficiary.

____	33.	Maggie purchased an insurance policy on Jim’s life and designated Susan as the beneficiary. Four years later Jim dies, and Susan collects the insurance proceeds.

____	34.	Using his own funds, Horace establishes a savings account designating ownership as follows: “Horace and Nadine as joint tenants with right of survivorship.” Horace later withdraws all of the funds.

____	35.	Using his own funds, Horace establishes a savings account designating ownership as follows: “Horace and Nadine as joint tenants with right of survivorship.” Nadine predeceases Horace.

____	36.	Using his own funds, Horace establishes a savings account designating ownership as follows: “Horace and Nadine as joint tenants with right of survivorship.” Horace predeceases Nadine.

Classify each statement appropriately.
	a.
	Deductible from the gross estate in arriving at the taxable estate.

	b.
	Not deductible from the gross estate in arriving at the taxable estate. 




____	37.	Mortgage on land included in gross estate and willed to decedent’s children.

____	38.	State death tax imposed on the estate.

____	39.	Selling expenses incurred to sell estate assets in order to pay administration expenses.

____	40.	Post-death property taxes paid to county on realty included in the gross estate.

____	41.	Casualty loss to property before the death of the owner.

____	42.	Casualty loss to property after the death of the owner.

____	43.	Casualty loss to property already distributed to an heir.

____	44.	Administration expenses attributable to handling the surviving spouse’s share of the community property.

____	45.	Payment by the estate of church pledge made by decedent prior to death.

____	46.	Transportation cost for decedent and surviving son to site of burial.

____	47.	State income taxes accrued prior to death.

____	48.	Payment of unpaid gift taxes.

Classify each of the independent statements appearing below.
	a.
	Some or all of the interest included in the decedent’s gross estate. 

	b.
	None of the interest included in the decedent’s gross estate.




____	49.	Interest on municipal bonds accrued after death.

____	50.	Cash dividends on stock owned by the decedent (declaration date preceded death but record and payment dates were after death).

____	51.	State income tax refund received after death on a tax return filed before death.

____	52.	Note receivable issued by a grandson and forgiven by the decedent in her will.

____	53.	Ten cemetery lots purchased by decedent prior to death for use by himself and his family.

____	54.	Dower interest claimed by decedent’s surviving spouse.

____	55.	Surviving spouse’s share of the community property.

____	56.	Bank account held as joint tenant with mother. Mother provided all of the funds. Mother survives.

____	57.	Bank account held as tenants by the entirety with surviving spouse. Decedent provided none of the funds.

____	58.	Proceeds of an insurance policy on decedent’s life. Decedent’s son purchased the policy and is its owner and beneficiary.

____	59.	Decedent owned a policy on the life of his spouse with himself as the designated beneficiary. The spouse survives.

____	60.	Decedent holds a life estate in a trust created by her spouse who died five years ago. The executor of the spouse’s estate made no QTIP election as to the trust. Decedent’s son is the remainderman of the trust.

Problem

	1.	Among the assets included in Taylor’s gross estate are the following.

	
	 Fair Market Value

	
	
Date of Death
	Six Months After
Date of Death

	Stock in Grebe Corporation
Stock in Rail Corporation
Office building
	$6,000,000
 800,000
 900,000
	$5,800,000
 850,000
 900,000



Three months after Taylor’s death in 2011, her executor sells the Rail stock for $840,000.

	a.
	What is the amount of Taylor’s gross estate if date of death value is used?

	
	

	b.
	What is the amount of Taylor’s gross estate if the alternate valuation date is elected?

	
	

	c.
	Suppose the accrued rents on the office building are as follows:  $80,000 (date of death) and $75,000 (six months after death). How does this change the answers in parts a. and b.?

	
	

	d.
	Suppose all of Taylor’s assets pass to her surviving spouse. Does this have any impact on the choice of valuation date? Explain.




	2.	Ben and Lynn are married and have two pre-teen grandchildren. They want to contribute to a § 529 plan on behalf of their education. For 2011, what is the maximum amount they can transfer to the plan without making a taxable gift?

	3.	At the time of her death on June 4, 2011, Mary owned the following assets.

	
	Taupe Corporation stock (cost $400,000, FMV $800,000). On May 5, 2011, Taupe declared a cash dividend, payable on June 16, 2011, to shareholders as of the record date of June 3. Mary’s executor received the $40,000 dividend on the scheduled payment date.

	
	

	
	City of Boise bonds (cost $800,000, FMV $780,000). Interest accrued to June 4 was $42,000. The executor eventually collected $50,000 (included post-death accrual of $8,000) on July 21, 2011.



As to these transactions, how much is included in Mary’s gross estate?

	4.	At the time of his death on August 7, 2011, Michael owned the following assets.

	
	Green Corporation stock (cost $700,000, FMV $950,000). On July 21, 2011, Green declared a cash dividend, payable on August 18 to all shareholders as of the record date of August 8, 2011. Michael’s executor receives the $64,000 dividend on the scheduled payment date.

	
	

	
	Note receivable (face amount $600,000) payable on demand. The note was received by Michael two years previously from his daughter Addison. Addison used the loan to start a business which currently is very successful. In his will, Michael forgives the note.



How much, as to these transactions, is included in Michael’s gross estate?

	5.	At the time of her death in 2011, Karla was a participant in her employer’s qualified pension plan. Her accrued balance in the plan is:

	Employer’s contribution
	$1,200,000

	Karla’s contribution
	700,000

	Income earned by plan
	900,000



Karla also was covered by her employer’s group term life insurance program. Her policy (maturity value of $200,000) is made payable to Scott (Karla’s husband). Scott is also the designated beneficiary of the pension plan.

	a.
	Regarding these assets, how much is included in Karla’s gross estate?

	
	

	b.
	In Karla’s taxable estate?

	
	

	c.
	How much income must Scott recognize?




	6.	Prior to his death in 2011, Gordon made the following taxable gifts.

	
	Year of 
   Gift   
	Amount of
     Gift     

	Stock in Tan Corporation
Term life insurance policy (maturity value of $100,000)
Unimproved land
	2000  
2009  
2010  
	$800,000
–0–
700,000



The policy of Gordon’s life was given to the designated beneficiary. The gift of the stock and the land generated gift taxes of $28,750 and $64,250, respectively.

As to these transfers, how much is included in Gordon’s gross estate?

	7.	At the time of her death in 2011, Ruby was involved in three trust arrangements. Details regarding these trusts are summarized below.

	
	Trust A (FMV of $3,000,000) was created by Ruby. Under its terms, Ruby holds a life estate, with her children designated as the remainder beneficiaries.

	
	

	
	Trust B (FMV of $900,000) was created by Ruby’s father. Ruby holds a life estate, with her children designated as the remainder beneficiaries.

	
	

	
	Trust C (FMV of $1,200,000) was created by Ruby’s mother. Ruby’s children hold a life estate, and the remainder interest is to pass to their children (i.e., Ruby’s grandchildren). Ruby possesses the right to determine yearly how the income is to be distributed among her children.



As to these trusts, how much will be included in Ruby’s gross estate?

	8.	Burt and Eve are husband and wife and have always lived in New York, a common law state. In 1990 and using separate funds, they bought an annuity from an insurance company—the purchase price was furnished 1/3 by Burt and 2/3 by Eve. Under the terms of the contract, Burt is to receive $50,000 per month for life when he reaches age 65.  If Eve survives Burt, she is to receive $30,000 per month for her life. Burt dies first in 2011, at which time the value of Eve’s survivorship annuity is $2,400,000. As to this annuity, how much (if any) is included in Burt’s gross estate?

	9.	In 1990, Bret and Olivia acquire realty for $1 million, with Bret furnishing $400,000 of the purchase price and Olivia providing the balance. Title to the property is listed as: “Bret and Olivia, joint tenants with right of survivorship.” In 2011, Olivia dies first when the realty is worth $4 million. How much is included in her gross estate under the following circumstances?

	a.
	Bret and Olivia are brother and sister.

	
	

	b.
	Bret and Olivia are husband and wife.




	10.	In 2000, Dale and Andrea acquire real estate for $1,000,000, with Dale furnishing $400,000 of the purchase price and Andrea providing the balance. Title to the property is listed as: “Dale and Andrea, equal tenants in common.” Dale dies first in 2011, when the real estate is worth $2,000,000.

	a.
	Were there any tax consequences in 2000? Explain.

	
	

	b.
	How much, as to the real estate, is included in Dale’s gross estate?

	
	

	c.
	As to parts a. and b., would it make any difference whether Dale and Andrea are brother and sister or husband and wife?




	11.	Murray owns an insurance policy on the life of his father, Ethan. Upon Ethan’s death, the policy proceeds of $2,000,000 are paid to the designated beneficiary, Grace. What are the tax consequences resulting from Ethan’s death based on the following assumptions?

	a.
	Grace is Murray’s daughter.

	
	

	b.
	Grace is Murray’s wife.

	
	

	c.
	What are the tax consequences if Murray dies first (i.e., predeceases both Grace and Ethan)?




	12.	At the time of her death in 2011, Amber owns property worth $4,000,000. Other information regarding her affairs is as follows.

	Unpaid pledge to the building fund of her church
	$50,000

	College graduation gift she had promised her grandson
	20,000

	Local property taxes owed (accrued prior to death)
	100,000

	Casualty loss to uninsured vacation home (fire occurred one month before death)
	400,000

	Mortgage owed on personal residence
	700,000



All of these items (except the casualty loss) were paid by her estate and none were deducted on Form 1041 (income tax return of the estate). What is Amber’s taxable estate?

	13.	At the time of Clint’s death in 2011, part of his estate consists of the following.

	
	Roth IRA (value of $1,000,000) with Jennifer as the designated beneficiary.

	
	

	
	Land (worth $3,000,000) held in joint tenancy with Jennifer. Jennifer is Clint’s wife and originally furnished the purchase price.

	
	

	
	Building (worth $3,000,000) held as equal tenants in common with Jennifer and Dana. Dana is Clint’s mother, and she originally purchased the property.



Under Clint’s will, all of his property passes to his wife, Jennifer. How much marital deduction is Clint’s estate allowed?

	14.	Calvin’s will passes $800,000 of cash to his widowed sister, Muriel. The estate tax attributable to the cash is $110,000. Muriel dies seven years later, and the estate tax generated by the $800,000 is $100,000. How much of a credit for tax on prior transfers will Muriel’s estate be allowed?

Essay

	1.	As reflected by the tax law, Congressional policy relative to the Federal gift and estate taxes has been very inconsistent. Comment on this policy regarding the following time periods.

	a.
	From original enactment of these taxes up to the Tax Reform Act of 1976.

	
	

	b.
	From the Tax Reform Act of 1976 to EGTRRA.

	
	

	c.
	From EGTRRA to the Tax Relief Act (TRA) of 2010.




	2.	The Federal gift and estate taxes were restructured in 1976 into the unified transfer tax. The objective of the change was to eliminate the tax difference between transfers during life (gift tax) and at death (estate tax). Does this uniformity of treatment currently exist? In this regard, comment on the following differences between the two taxes.

	a.
	Applicable unified transfer tax credit.

	
	

	b.
	Applicable unified transfer tax rates.

	
	

	c.
	Availability of the charitable and marital deductions.

	
	

	d.
	Availability of the annual exclusion.




	3.	Byron and Amanda are heirs of the Nelson estate. Although each receives a $20,000 bequest, they pay different amounts of inheritance tax. Explain the possible reason for the discrepancy.

	4.	In contrasting the computation of the Federal gift and estate taxes, are past taxable gifts handled in the same fashion? Explain.

	5.	For Federal estate tax purposes, the gross estate includes property that the decedent owns at the time of death. It may also include property that the decedent no longer owns. Explain.

	6.	Waldo is his mother’s sole heir and is the designated executor of her estate. Although the alternate valuation date would yield a smaller gross estate and less estate tax liability, the § 2032 election is not made. Instead, Waldo files a Form 706 for his mother’s estate using higher date of death values. Why?

	7.	Madeline pays for her mother’s nursing home expenses. Under what conditions might such payments not be a gift?

	8.	Cliff loans his adult daughter, Stella, a large sum of money to enable her to start her own business. The loan is evidenced by a note, and no interest is provided for or repayment date specified. What are the potential tax ramifications of this arrangement to Cliff and Stella?

	9.	The IRS does not consider property settlements in consideration of marriage as being transfers for valuable consideration. Consequently, such prenuptial settlements are subject to the Federal gift tax. Why, then, are property settlements incident to divorce exempt from the gift tax?

	10.	Walt dies intestate (i.e., without a will) in the current year with a gross estate valued at $4,000,000. Under applicable state law, Walt’s property passes to Kelly or to Belle, in that order. Kelly has an estimated net worth of $3,000,000 while Belle has none. From a tax planning standpoint, what course of action might be advisable.

	11.	In what manner does the tax law favor contributions to qualified tuition plans under § 529?

	12.	In determining the gift tax due on a current gift, a credit is allowed for gift taxes actually paid on prior taxable gifts. Comment on the accuracy of this statement.

	13.	The § 2513 election to split gifts is less useful in community property states than in common law states. Explain.

	14.	Distributions from retirement plans and proceeds from life insurance plans usually are not subject to probate.

	a.
	Why are they not part of the probate estate?

	
	

	b.
	When might they be included in the probate estate?




	15.	For estate tax purposes, what is the difference between a surviving spouse’s share of the community property and a dower (or courtesy) interest?

	16.	Community property law has been influential in the enactment of several provisions of the Federal estate and gift tax.  In this regard, comment on the marital deduction under §§ 2056 and 2523.

	17.	Joint tenancies and tenancies by the entirety avoid probate, while tenancies in common and community property do not. Why?

	18.	Cole purchases land for $500,000 and transfers it by gift to his two daughters, Madison and Paige, as equal joint tenants with the right of survivorship. Ten years later, when the land is worth $2,000,000, Madison predeceases Paige. Madison’s executor includes none of the value of the land in her gross estate, as she contributed nothing toward its cost. Do you agree?

	19.	When Travis learns he is seriously ill, he transfers an insurance policy on his life (maturity value of $2,000,000) to his wife Alexis. The couple’s adult children are the designated beneficiaries of the policy. Has Travis acted wisely?

	20.	What is the justification for the terminable interest rule that is applicable to the marital deduction?

	21.	Doyle died in 2000 and by will created a trust with the following provisions:  “life estate to my wife, Grace, remainder upon her death to our children.” Grace dies in 2011. Is the trust Doyle created included in Grace’s gross estate? Explain.

	22.	Generally, property that passes to a surviving spouse that is not a U.S. citizen does not qualify for the marital deduction.

	a.
	Why?

	
	

	b.
	How can this result be avoided?




	23.	At the time of her death in an automobile accident, Laura left a modest probate estate, most of which she had inherited from her mother several years ago. Comment on Laura’s Federal estate tax position in connection with each of the following points.

	a.
	Probate estate versus gross estate.

	
	

	b.
	Credit for the tax on prior transfers.




	24.	When one spouse predeceases the other, the credit for prior transfers does not apply.

	a.
	Why?

	
	

	b.
	Under what circumstances might the credit apply?




	25.	How could the § 2513 election to split gifts help avoid the generation-skipping transfer tax (GSTT)?

Chapter 18
Answer Section

TRUE/FALSE

	1.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-2
OBJ:	1	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	2.	ANS:	T
A gift is a gratuitous transfer.

PTS:	1	DIF:	1	REF:	p. 18-3	OBJ:	1 | 4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	3.	ANS:	F
The practice of deathbed gifts was intended to avoid the estate tax and, therefore, led to the enactment of the Federal gift tax.

PTS:	1	DIF:	1	REF:	p. 18-2 | Footnote 1	
OBJ:	1	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	4.	ANS:	T
The statement describes Congressional attitude prior to 1977.

PTS:	1	DIF:	1	REF:	p. 18-2	OBJ:	1
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	5.	ANS:	T
Not all states impose an inheritance tax, but the Federal tax on transfers by death is an estate tax.

PTS:	1	DIF:	1	REF:	p. 18-3	OBJ:	1
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	6.	ANS:	F
What is described is an inheritance tax. An estate tax is a tax on the right of a decedent to pass property at death.

PTS:	1	DIF:	1	REF:	p. 18-4	OBJ:	1
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	7.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-3
OBJ:	1	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	8.	ANS:	T
If the donor does not pay the gift tax, it will be imposed on the donee. See the reference to transferee liability in Footnote 3.

PTS:	1	DIF:	1	REF:	p. 18-3	OBJ:	1
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	9.	ANS:	F
NRAs could be subject to the Federal gift tax as to transfers of property located in the U.S. but an exception is made in the case of intangibles, such as stocks and bonds.

PTS:	1	DIF:	1	REF:	p. 18-3	OBJ:	1
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	10.	ANS:	F
The place of death is not the determinant for the application of the Federal estate tax. Unless he has property located in the U.S., Kim (a nonresident alien) is not subject to the Federal estate tax.

PTS:	1	DIF:	1	REF:	p. 18-3	OBJ:	1
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	11.	ANS:	F
As long as Paul is a U.S. citizen, his residence and the situs of his property makes no difference for estate tax purposes.

PTS:	1	DIF:	1	REF:	p. 18-3	OBJ:	1
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	12.	ANS:	T
As the gift tax is imposed on a cumulative basis, all prior taxable gifts must be taken into account.

PTS:	1	DIF:	1	REF:	Example 1	OBJ:	2
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	13.	ANS:	T
An example could be certain gifts a decedent made within three years of death.

PTS:	1	DIF:	1	REF:	p. 18-4	OBJ:	2
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	14.	ANS:	F
The gross estate does include such property, but the marital deduction offsets its inclusion.

PTS:	1	DIF:	1	REF:	Figure 18.2	OBJ:	3
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	15.	ANS:	T	PTS:	1	DIF:	1	REF:	Figure 18.1 | Figure 18.2
OBJ:	2 | 3	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	16.	ANS:	F
This has been true for some years but not for other years.

PTS:	1	DIF:	1	REF:	Table 18.1	OBJ:	3
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	17.	ANS:	F
Sec. 2032 is elective and the date of death value still can be used.

PTS:	2	DIF:	1	REF:	p. 18-6	OBJ:	3
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	18.	ANS:	T
Both represent the amount that can pass free of tax under the applicable unified tax credit.

PTS:	1	DIF:	1	REF:	p. 18-6	OBJ:	3
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	19.	ANS:	F
All assets are valued on the alternate valuation date if § 2032 is elected. In such cases date of death valuation is not utilized.

PTS:	1	DIF:	1	REF:	p. 18-6	OBJ:	3
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	20.	ANS:	T
Without the QTIP election, the marital deduction is not available. Thus, the result reached in Example 6 is not possible.

PTS:	2	DIF:	1	REF:	p. 18-7	OBJ:	3
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	21.	ANS:	F
It would not if a cash bequest is involved, but it could if property was the subject of the transfer.

PTS:	1	DIF:	1	REF:	p. 18-7	OBJ:	3
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	22.	ANS:	T	PTS:	1	DIF:	1	REF:	Example 7
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	23.	ANS:	T
Ownership as joint tenancy carries the right of survivorship.

PTS:	1	DIF:	1	REF:	p. 18-8	OBJ:	3
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	24.	ANS:	F
Unlike a joint tenancy, the death of a tenant in common does not defeat the ownership interest.

PTS:	1	DIF:	1	REF:	p. 18-8	OBJ:	3
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	25.	ANS:	F
Generally, property inherited or acquired by gift is separate property.

PTS:	1	DIF:	1	REF:	 p. 18-8	OBJ:	3
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	26.	ANS:	T
Section 2503(e) excepts such situations from the Federal gift tax.

PTS:	1	DIF:	1	REF:	p. 18-10	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	27.	ANS:	F
Presuming the daughter is a student at State University, no gift has occurred. Barry is satisfying his obligation to support his children.

PTS:	1	DIF:	1	REF:	p. 18-10	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	28.	ANS:	F	PTS:	1	DIF:	1	REF:	p. 18-9
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	29.	ANS:	F
Since Nicole paid Pauline $10,000, the gift is only $90,000 [$100,000 (fair market value) – $10,000 (consideration received)].

PTS:	1	DIF:	1	REF:	Example 14	OBJ:	4
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	30.	ANS:	T
Since Mitch paid the providers (e.g., surgeon, hospitals) directly, no gift has taken place.

PTS:	1	DIF:	1	REF:	p. 18-10	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	31.	ANS:	F
No gift takes place when the bond is purchased. Should Don receive the bond when Sam dies, it is not a gift but a testamentary transfer.

PTS:	1	DIF:	1	REF:	Example 51	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	32.	ANS:	F
Imputed interest could occur if the interest provided for is below the market rate.

PTS:	1	DIF:	1	REF:	p. 18-11	OBJ:	4
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	33.	ANS:	T
Prenuptial agreements are subject to gift tax, while divorce settlements are not. Section 2516 treats the latter as being for adequate consideration and, therefore, does not create a gift.

PTS:	2	DIF:	1	REF:	p. 18-9 | p. 18-11	
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	34.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-12
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	35.	ANS:	T
If timely made, a partial disclaimer is allowed.

PTS:	1	DIF:	1	REF:	Example 20	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	36.	ANS:	F
The key is possessing the power. Whether it is exercised makes no difference.

PTS:	1	DIF:	1	REF:	Example 23	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	37.	ANS:	T
Since the funds are jointly owned, two donors are involved. Consequently, the maximum annual exclusion becomes $130,000 [$13,000 (annual exclusion)  2 (number of donors)  5 (number of years allowed)].

PTS:	1	DIF:	1	REF:	Example 24	OBJ:	4
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	38.	ANS:	F
Although the contribution to a § 529 plan is not complete (i.e., the transferor retains the right to recover some or all of the contribution), nothing is included in the gross estate upon his or her death during the plan’s existence.

PTS:	1	DIF:	1	REF:	p. 18-14	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	39.	ANS:	T	PTS:	1	DIF:	1	REF:	Example 28
OBJ:	5	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	40.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-15
OBJ:	5	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	41.	ANS:	T
As long as the spouses were legally married to each other at the time of the gift and neither has married anyone else during the year.

PTS:	1	DIF:	1	REF:	p. 18-15	OBJ:	5
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	42.	ANS:	T
The election could be used as to gifts of separate property.

PTS:	1	DIF:	1	REF:	p. 18-15	OBJ:	5
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	43.	ANS:	F
The normal filing date remains April 15 of the year succeeding that of the gift.

PTS:	1	DIF:	1	REF:	p. 18-16	OBJ:	5
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	44.	ANS:	T
A gift tax return must be filed whenever the transfers during any one year exceed the annual exclusion or involve the gift of a future interest. Whether a gift tax is due has no bearing on the requirements for filing the return.

PTS:	1	DIF:	1	REF:	p. 18-16	OBJ:	5
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	45.	ANS:	F
State, not Federal, law controls the order of distribution. Only the property in her probate estate is subject to these rules.

PTS:	1	DIF:	1	REF:	p. 18-17	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	46.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-17
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	47.	ANS:	F
Such interest is includible in the gross estate and is subject to the estate tax.

PTS:	1	DIF:	1	REF:	Example 28	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	48.	ANS:	T
Record date controls.

PTS:	1	DIF:	1	REF:	Example 30	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	49.	ANS:	T
The value of the note is included in Rita’s gross estate.

PTS:	1	DIF:	1	REF:	Example 31	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	50.	ANS:	T
The Roth IRA is included in the gross estate under § 2033 (property in which the decedent had an interest).

PTS:	1	DIF:	1	REF:	p. 18-18	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	51.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-17
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	52.	ANS:	F
The community property interest is not included in the deceased spouse’s gross estate. This is not the case with a dower interest. Property passing under a dower interest may, however, qualify for a marital deduction.

PTS:	1	DIF:	1	REF:	Example 34	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	53.	ANS:	T
The “gross up” rule applies to gift taxes paid on gifts made within the three-year period prior to death.

PTS:	1	DIF:	1	REF:	Example 35	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	54.	ANS:	T
Since three years has passed, § 2035 does not apply.

PTS:	1	DIF:	1	REF:	p. 18-19	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	55.	ANS:	F
Section 2036(a)(1) applies to include one-half of the value of the trust in her gross estate.

PTS:	1	DIF:	1	REF:	p. 18-19	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	56.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-21
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	57.	ANS:	F
In this regard, a tenancy by the entirety can be likened to a joint tenancy and contrasted with a tenancy in common.

PTS:	1	DIF:	1	REF:	p. 18-8 | p. 18-22	
OBJ:	3 | 6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	58.	ANS:	T	PTS:	1	DIF:	1	REF:	Example 50
OBJ:	4 | 6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	59.	ANS:	F
$300,000 (50%  $600,000) is included.

PTS:	1	DIF:	1	REF:	p. 18-22 | p. 18-23	
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	60.	ANS:	F
In the case of joint ownership between married persons, a spouse’s contribution does not matter. One-half of the value of the property is included in the gross estate of the first spouse to die.

PTS:	1	DIF:	1	REF:	Example 46	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	61.	ANS:	F
Both spouses are treated as contributing one-half of the purchase price of the property.

PTS:	1	DIF:	1	REF:	Example 46	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	62.	ANS:	T
Lyle made all of the contribution to the cost of the land.

PTS:	1	DIF:	1	REF:	p. 18-23	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	63.	ANS:	T
No gift results from the purchase. As Donna had no vested interest in the bonds, no estate tax consequences ensue upon her death.

PTS:	1	DIF:	1	REF:	p. 18-24	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	64.	ANS:	F
The purchase is a gift. Unlike Example 51 in the text, Reba retains no interest in the bonds. Rod does not have to survive Reba to gain ownership of the bonds.

PTS:	1	DIF:	1	REF:	p. 18-24	OBJ:	4 | 6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	65.	ANS:	F
Jody’s power of appointment is special he cannot appoint any of the property to himself.

PTS:	1	DIF:	1	REF:	Example 52	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	66.	ANS:	F
Tax consequences will result from the lapse of a general power of appointment created after October 21, 1942.

PTS:	1	DIF:	1	REF:	p. 18-25	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	67.	ANS:	F
The replacement value of an unmatured policy should be included.

PTS:	1	DIF:	1	REF:	Example 53	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	68.	ANS:	T	PTS:	1	DIF:	1	REF:	Example 56
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	69.	ANS:	T
The death of the beneficiary of an unmatured life insurance policy carries no tax consequences.

PTS:	1	DIF:	1	REF:	p. 18-25	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	70.	ANS:	F
Unpaid taxes that are paid by the estate can be deducted under § 2053 to arrive at a decedent’s taxable estate.

PTS:	1	DIF:	1	REF:	p. 18-28	OBJ:	7
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	71.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	72.	ANS:	T
The deduction is allowed under § 2053(c)(1)(A).

PTS:	1	DIF:	1	REF:	p. 18-28	OBJ:	7
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	73.	ANS:	F
The casualty loss of $35,000 should be claimed on Irene’s final income tax return. The insurance recovery of $60,000 should be included in the gross estate under § 2033.

PTS:	1	DIF:	1	REF:	p. 18-28	OBJ:	7
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	74.	ANS:	F
None of the lots are included in the gross estate, so no estate tax deduction is allowed.

PTS:	1	DIF:	1	REF:	p. 18-28	OBJ:	7
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	75.	ANS:	T
Some differences exist.

PTS:	1	DIF:	1	REF:	p. 18-28 | p. 18-29	
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	76.	ANS:	T
Foreign charities qualify for the estate tax charitable deduction.

PTS:	1	DIF:	1	REF:	p. 18-29	OBJ:	7
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	77.	ANS:	F
A foreign charity is not a qualified organization for Federal income tax purposes.

PTS:	1	DIF:	1	REF:	p. 18-29	OBJ:	7
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	78.	ANS:	T	PTS:	1	DIF:	1	REF:	p. 18-29
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	79.	ANS:	F
The marital deduction is $700,000 (50%  $1.4 million).

PTS:	2	DIF:	1	REF:	Example 46 | Example 60
OBJ:	6 | 7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	80.	ANS:	T	PTS:	1	DIF:	1	REF:	Example 61
OBJ:	7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	81.	ANS:	T
Since the proceeds are not included in Austin’s gross estate, they do not satisfy the passing requirement.

PTS:	1	DIF:	1	REF:	p. 18-30	OBJ:	7
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	82.	ANS:	F
Only one approach is necessary.

PTS:	1	DIF:	1	REF:	p. 18-31 | p. 18-32	
OBJ:	7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	83.	ANS:	F
A general power of appointment or a QTIP election is needed only to avoid the terminable interest rule. An outright transfer of ownership is not a terminable interest and will fully qualify for the marital deduction.

PTS:	1	DIF:	1	REF:	p. 18-31	OBJ:	7
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	84.	ANS:	T	PTS:	1	DIF:	1	REF:	Example 66
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	85.	ANS:	T
A marital deduction is allowed if the property passes to a qualified domestic trust.

PTS:	1	DIF:	1	REF:	p. 18-33	OBJ:	7
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	86.	ANS:	F
At one point, the top rate was as high as 70%.

PTS:	1	DIF:	1	REF:	p. 18-14	OBJ:	8
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	87.	ANS:	T
The 35% rate existed during the Hoover Administration. The 35% maximum rate also applied to gifts made in 2010.

PTS:	1	DIF:	1	REF:	p. 18-14	OBJ:	8
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	88.	ANS:	T	PTS:	1	DIF:	1	REF:	Table 18.1
OBJ:	8	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	89.	ANS:	T	PTS:	1	DIF:	1	REF:	Table 18.1
OBJ:	8	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	90.	ANS:	F
Although not as beneficial as a credit, § 2058 allows a deduction for state death taxes paid.

PTS:	1	DIF:	1	REF:	p. 18-33	OBJ:	8
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	91.	ANS:	F
The full credit is allowed if the transferee’s death occurs within two years of transferor’s death.

PTS:	1	DIF:	1	REF:	Table 18.2	OBJ:	8
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	92.	ANS:	F
Section 2013 is not available if 10 years have elapsed.

PTS:	1	DIF:	1	REF:	Table 18.2	OBJ:	8
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	93.	ANS:	T
Dylan may, however, be able to claim a credit against the Federal estate tax for foreign death taxes paid.

PTS:	1	DIF:	1	REF:	p. 18-35 | p. 18-36	
OBJ:	8	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	94.	ANS:	F
Compared with income tax treaties, the word “few” (not “most”) better describes the situation.

PTS:	1	DIF:	1	REF:	See Global Tax Issues on p. 18-36.
OBJ:	8	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	2 min

	95.	ANS:	F
Only the portion passing to Paula is subject to the GSTT.  Monique, 28 years younger than Paula, is treated as being in the same generation as her husband Eric.

PTS:	1	DIF:	1	REF:	Example 72	OBJ:	9
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	2 min

	96.	ANS:	T	PTS:	1	DIF:	1	REF:	Example 73
OBJ:	9	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

MULTIPLE CHOICE

	1.	ANS:	A
The § 2032 election applies only to estate tax situations (choice a.).

PTS:	1	DIF:	2	REF:	p. 18-6 | Figure 18.1	
OBJ:	1 | 2 | 3 | 4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	2.	ANS:	C
Post-1976 taxable gifts need to be considered.

PTS:	1	DIF:	2	REF:	Figure 18.2	OBJ:	3 | 7 | 8 
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	3.	ANS:	B
The deduction for state death taxes (§ 2058), formerly a credit, is only available for estate tax purposes (choice b.).

PTS:	1	DIF:	2	REF:	Figure 18.1	OBJ:	2 | 3
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	4.	ANS:	E
All prior taxable gifts must be considered (choices a., b., and c.).  The credit claimed is the deemed paid credit (choice d.).

PTS:	1	DIF:	2	REF:	Figure 18.1	OBJ:	2
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	5.	ANS:	C
Post-1976 gifts are added (choice a.).  State death taxes are allowed as a deduction (choice b.).  Income taxes owed are a deduction under § 2053 (choice c.).  The exclusion amount is used only once (choice d.).

PTS:	1	DIF:	2	REF:	Figure 18.2	OBJ:	3
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	6.	ANS:	B	PTS:	1	DIF:	2	REF:	p. 18-8 | p. 18-22
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	7.	ANS:	E
No monetary amount is specified for making the § 2032 election (choice a.). True, the § 2032 election cannot be made unless a Form 706 must be filed, but this depends on the filing requirements and are not subject to indexation. Although the annual exclusion (choice d.) is not revised every year, it is adjusted whenever the inflation factor reaches a specified level. The changes to the tax rates (choice c.) are provided by the law and are not dictated by inflation.

PTS:	1	DIF:	1	REF:	p. 18-4 | p. 18-6 | Footnote 13
OBJ:	2 | 3	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	8.	ANS:	A
The election is made by the executor of the estate (choice a.). No election can be made unless a Form 706 is due (choice b.), and the effect is to reduce both the gross estate and the estate tax liability (choice c.). The election (or nonelection) has a direct impact on income tax basis (choice d.).

PTS:	1	DIF:	1	REF:	p. 18-6 | p. 18-7	
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	9.	ANS:	B
Both the value of the gross estate and the estate tax must be lower on the alternate valuation date for the § 2032 election to be available. This is the case only with choice b.

PTS:	1	DIF:	1	REF:	p. 18-7	OBJ:	3
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	10.	ANS:	C
$1,100,000 (Aqua Corporation stock) + $1,400,000 (Orange Corporation stock) = $2,500,000.

PTS:	1	DIF:	1	REF:	Example 4 | Example 5
OBJ:	3	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	11.	ANS:	B
Providing a son with a college education (choice a.) is satisfying the obligation of support. Providing an RV for a grandfather who is not a dependent is a gift (choice b.). Paying for someone’s tuition is not a gift, and dependency status is not material (choice c.). Political contributions are not treated as gifts (choice d.).

PTS:	1	DIF:	1	REF:	p. 18-9 | p. 18-10	
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	12.	ANS:	E
Choice a. is an incomplete transfer—there is a retention of a right to revoke the trust. Choice b. is not a gift but is a testamentary transfer. Payment was made directly to the provider of another’s medical expenses and is, therefore, not a gift (choice c.). Code § 2516 treats property settlements incident to divorce as being for full and adequate consideration (choice d.).

PTS:	1	DIF:	2	REF:	p. 18-9 | p. 18-10 | Example 51
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	13.	ANS:	D
Heidi has not made a complete gift of the remainder interest to her children (choice a.).  The withdrawal by the sister is a transfer at death by Herman (choice c.).  Before the wedding, Eva’s transfer to Arlan is treated as a gift (choice d.).

PTS:	1	DIF:	2	REF:	p. 18-9 | Example 9 | Example 49 | Example 50
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	14.	ANS:	D
The gift tax applies only to the disclaimer made on May 31, 2011 (choice d.) since it is after the allowed 9-month grace period.

PTS:	1	DIF:	2	REF:	p. 18-12	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	15.	ANS:	D	PTS:	1	DIF:	1	REF:	Example 17
OBJ:	4	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	16.	ANS:	A
The deemed paid credit can be more or less than the tax actually paid (choice a.). The whole purpose of the disclaimer provision is to avoid a layer of transfer taxes (choice b.).

PTS:	1	DIF:	2	REF:	p. 18-11 | p. 18-12 | p. 18-14 | Example 24
OBJ:	4	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	17.	ANS:	B
As long as the parties are married at the time of the gift and have not remarried by the end of the year, a divorce does not preclude the election (choice a.).  The election has utility in a community property state as to the gifts of separate property (choice d.).

PTS:	1	DIF:	2	REF:	p. 18-15	OBJ:	5
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	18.	ANS:	C
Form 709 is not filed in the same year that the gift was made, but on April 15 of the following year (choice a.). The due date for the Form 709 is the same as that for Form 1040 only if the donor uses the calendar year for income tax purposes (choice b.). Even if less than the annual exclusion, a Form 709 must be filed if a future interest is involved (choice c.). Gifts between spouses are not reported on Form 709 (choice d.).

PTS:	1	DIF:	1	REF:	 p. 18-16	OBJ:	5
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	19.	ANS:	A
Since the record date controls and it was before Mark’s death, all of the dividend is included in his gross estate (choice b.).

PTS:	1	DIF:	2	REF:	p. 18-17 to 18-19	
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	20.	ANS:	E
Post-death income is not part of the gross estate—the election of the alternate valuation date makes no difference (choices a. and b.).  The value of the house as of the date of death is determined by the insurance recovery (choice c.).  Any casualty loss belongs to Andrea.  The forgiveness of the note has no effect on its inclusion in the gross estate (choice d.).

PTS:	1	DIF:	2	REF:	p. 18-18 | p. 18-19 | Example 7
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	21.	ANS:	C
$0 + $400,000 + $200,000 + $500,000 = $1,100,000. None of the joint tenancy is included in the gross estate as Norton contributed none of the purchase price. A tenancy by the entirety is a joint tenancy between husband and wife. Under a special rule, each spouse is deemed to be an equal contributor to the cost of the property. Under § 2033, Norton’s share of the tenancy is included in his gross estate. Municipal bonds are included in the gross estate.

PTS:	1	DIF:	2	REF:	p. 18-23 | Example 29 | Example 42 | Example 46
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	22.	ANS:	A
$3,048,000. The Mauve stock and the dividend are included (record date of dividend is before death). Because of the  QTIP election, the trust is included in a donee spouse’s estate. Post-1976 taxable gifts are added to the taxable estate in arriving at the tax base.

PTS:	1	DIF:	2	REF:	Example 30 | Example 35 | Example 66
OBJ:	6 | 7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	23.	ANS:	D
Pam must pay income tax on $1,100,000 [$800,000 (employer’s contributions) + $300,000 (plan earnings)]. Jason’s contributions ($400,000) and the insurance proceeds ($100,000) are not subject to income tax. Jason’s gross estate includes $1,600,000 ($800,000 + $400,000 + $300,000 + $100,000).

PTS:	1	DIF:	1	REF:	Example 32	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	24.	ANS:	D
$100,000 (life insurance) + $70,000 (gift tax) = $170,000.

PTS:	1	DIF:	1	REF:	Example 35	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	25.	ANS:	C
Under § 2035 the gross estate must include $260,000 for the insurance proceeds ($200,000) plus the “gross-up” for the gift tax paid ($60,000). The other post-1976 taxable gifts are added to the taxable estate.

PTS:	1	DIF:	1	REF:	Example 35	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	26.	ANS:	E
No QTIP election avoids inclusion in Lance’s gross estate (choice a.).  Since Lance created the trust and retains a life estate, § 2036 applies (choice c.).  Releasing the power of revocation more than three years ago keeps § 2035 and § 2038 from applying.  Even so, § 2036 (see previous comment) causes inclusion (choice d.).

PTS:	1	DIF:	2	REF:	p. 18-21 | Example 36 | Example 37 | Example 63
OBJ:	4 | 6 | 7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	27.	ANS:	B
$250,000 + $400,000 + $500,000 = $1,150,000. The value of an unmatured life insurance policy is included in the owner’s gross estate. The decedent’s ownership interest in a tenancy in common is included in the gross estate. As to Megan’s joint tenancy interest, she is considered to have contributed one-third as the property came from another.

PTS:	1	DIF:	2	REF:	Example 44 | Example 45 | Example 53
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	28.	ANS:	A
Hal’s contribution is 1/6 ($100,000/$600,000) as the gift funds cannot be counted. Thus, his estate includes $500,000 (1/6  $3,000,000).

PTS:	1	DIF:	1	REF:	Example 43	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	29.	ANS:	D
Theresa made the gift—not April (choice a.). April’s gross estate includes $750,000 (50%  $1.5 million) as to the land (choice b.). For the apartment building, her gross estate includes $1 million (50%  $2 million) as she is an equal tenant in common (choice c.).

PTS:	2	DIF:	2	REF:	Example 42 | Example 45
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	30.	ANS:	C
$250,000 (50%  $500,000).

PTS:	1	DIF:	1	REF:	Example 40	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	31.	ANS:	B
Although a contribution by someone other than the annuitant provides an exclusion from the gross estate (choice c.), an employer’s contribution is treated as coming from the annuitant (choice b.).  No inclusion in the gross estate occurs in the case of a straight-life annuity (choice a.) or when the survivor predeceases the annuitant (choice d.).

PTS:	1	DIF:	2	REF:	Example 38 to 41	
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	32.	ANS:	A
Patricia made a gift to Matt in 1980 of $200,000 (50%  $400,000) and a marital deduction of an equal amount is allowed for gift tax purposes (choices b. and c.). In 2011, Matt’s gross estate includes $1 million (50%  $2 million) and is offset by a marital deduction of an equal amount (choices a. and d.).

PTS:	2	DIF:	1	REF:	Example 46 | Example 60
OBJ:	6 | 7	NAT:	AICPA FN-Measurement | AICPA-FN-Reporting | AACSB Analytic
MSC:	10 min

	33.	ANS:	C
If the policy was jointly owned, only one-half of the proceeds is included in Gerald’s estate. Pat is treated as making a gift of the remaining half of the proceeds.

PTS:	1	DIF:	1	REF:	Example 57	OBJ:	6 | 7
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	34.	ANS:	B
(50%  $2,000,000) + (50%  $3,000,000) = $2,500,000. The life insurance proceeds do not pass through Homer’s gross estate and, therefore, do not qualify for the marital deduction.

PTS:	1	DIF:	2	REF:	Example 46 | Example 60
OBJ:	7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	35.	ANS:	C
Nothing is included in Drew’s gross estate when he dies as he neither controls the trust nor owns its assets (choice a.). Drew gets a gift tax marital deduction when he creates the trust in 1985 (choice c.). All of the value of the trust ($2,000,000), due to the QTIP election, is included in Paula’s gross estate when she dies (choice d. and choice b.).

PTS:	1	DIF:	2	REF:	p. 18-31 | p. 18-32 | Example 66
OBJ:	6 | 7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	36.	ANS:	D
Start with the taxable estate of $4,000,000 and add all post-1976 taxable gifts ($200,000 + $600,000 + $700,000).

PTS:	1	DIF:	1	REF:	Figure 18.2	OBJ:	8
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	37.	ANS:	B
The gift tax credit is $345,800 for 2009 and $330,800 for 2010 (choice b.). For 2010, the estate tax credit is $0 (unless 2011 estate tax treatment is elected—see Chapter 19). For 2011, the estate and gift tax credits are the same ($1,730,800)—choice c.  For 2013, the credits are scheduled to be $345,800 for both taxes (choice d.).

PTS:	1	DIF:	1	REF:	Table 18.1	OBJ:	8
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	2 min

	38.	ANS:	E
The credit for 9 1/2 years is $60,000 (20%  $300,000)—choice a.  For 3 years, the credit is $240,000 (80%  $300,000)—choice b.  For 1 year, the credit is $300,000 (100%  $300,000)—choice c. For 5 1/2 years, the credit is $180,000 (60%  $300,000)—choice d.

PTS:	1	DIF:	1	REF:	Example 68 | Example 69
OBJ:	8	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

MATCHING

	1.	ANS:	E	PTS:	1	DIF:	1	REF:	Example 16
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	2.	ANS:	J	PTS:	1	DIF:	1	REF:	p. 18-6
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	3.	ANS:	G	PTS:	1	DIF:	1	REF:	p. 18-4
OBJ:	1	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	4.	ANS:	D	PTS:	1	DIF:	1	REF:	p. 18-4
OBJ:	1	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	5.	ANS:	I	PTS:	1	DIF:	1	REF:	p. 18-32
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	6.	ANS:	C	PTS:	1	DIF:	1	REF:	p. 18-8
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	H is also correct.	

	7.	ANS:	H	PTS:	1	DIF:	1	REF:	p. 18-8
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	8.	ANS:	L	PTS:	1	DIF:	1	REF:	p. 18-8
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	9.	ANS:	C	PTS:	1	DIF:	1	REF:	p. 18-8
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	10.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-34
OBJ:	8	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	11.	ANS:	K	PTS:	1	DIF:	1	REF:	p. 18-6
OBJ:	8	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	12.	ANS:	F	PTS:	1	DIF:	1	REF:	p. 18-12
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	13.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-10
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	The gift tax would be avoided if Hector had paid the medical providers (e.g., hospital, doctors) directly.

	14.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-9
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	See the discussion of Reg. § 25.2512-8.	

	15.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-11
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	Section 2516 specifically excludes this type of transfer from the application of the Federal gift tax.

	16.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-10
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	The gift tax is avoided since Harry paid Drake University directly.

	17.	ANS:	B	PTS:	1	DIF:	1	REF:	Example 17
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	The interest element is subject to the gift tax.

	18.	ANS:	C	PTS:	1	DIF:	1	REF:	Example 31
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	19.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 20
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	20.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-12
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	Faith has not satisfied the nine-month requirement of § 2518.

	21.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-25
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	The exercise of a special power of appointment is not a gift under § 2514.

	22.	ANS:	C	PTS:	1	DIF:	1	REF:	p. 18-25
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	The existence of the general power of appointment is enough, the exercise is not necessary (§ 2041).

	23.	ANS:	C	PTS:	1	DIF:	1	REF:	p. 18-25
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	24.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-25
OBJ:	4 | 6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	No transfer occurs that is subject to tax.	

	25.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 51
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	Just purchasing the bond does not constitute a gift.

	26.	ANS:	C	PTS:	1	DIF:	1	REF:	Example 51
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	The transfer now becomes complete. However, the transfer is testamentary and not by gift.

	27.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 9
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	This is an incomplete transfer.

	28.	ANS:	B	PTS:	1	DIF:	1	REF:	Example 10
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	A transfer now occurs.

	29.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-10
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	Satisfying the obligation of support is not a gift situation.

	30.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-10
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	This is a transfer excluded from the gift tax.	

	31.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-9
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	Political contributions are not subject to the gift tax.

	32.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-26
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	No completed transfer has occurred.		

	33.	ANS:	B	PTS:	1	DIF:	1	REF:	Example 56
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	The proceeds are a gift from Maggie to Susan.

	34.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 49
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	35.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 16
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	36.	ANS:	C	PTS:	1	DIF:	1	REF:	p. 18-23
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	37.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-27
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	38.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-33 | § 2058
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	39.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	The selling expenses also are deductible on the fiduciary return (Form 1041). As no double deduction can be allowed, a choice must be made. See p. 18-28.

	40.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	41.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	The casualty loss is reported on the decedent’s final Form 1040.

	42.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	As an alternative, such loss could be caimed on the decedent’s Form 1041 (income tax return of the estate) for the year of the loss.

	43.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	Such loss should be caimed by the heir.	

	44.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	Only those expenses attributable to the administration of the deceased spouse’s share of the community property are deductible.

	45.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	 § 2053(c)(1)(A)	

	46.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	47.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	48.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	49.	ANS:	B	PTS:	1	DIF:	1	REF:	Example 29
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	50.	ANS:	B	PTS:	1	DIF:	1	REF:	Example 30
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	51.	ANS:	A	PTS:	1	DIF:	1	REF:	p. 18-17
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	52.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 31
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	53.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-28
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min

	54.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 34
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	Under § 2034, a surviving spouse’s dower interest is not excluded from the gross estate of the deceased spouse.

	55.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-17
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	The deceased spouse has no right to the surviving spouse’s share of the community.

	56.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-23
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	NOT:	Since the decedent furnished none of the contribution, no inclusion is required.

	57.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 46
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	As husband and wife are involved, the decedents’s contribution is immaterial. Automatic inclusion of one-half is required.		

	58.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-25
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	It appears that decedent's only interest in this arrangement was his life. Since he had no proprietary rights, there is no inclusion.	

	59.	ANS:	A	PTS:	1	DIF:	1	REF:	Example 53
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	The inclusion of the policy in the gross estate falls under § 2033. As the policy has not matured, § 2042 does not apply.		

	60.	ANS:	B	PTS:	1	DIF:	1	REF:	p. 18-32
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	2 min	
NOT:	Under § 2036, a life estate is not included in the gross estate (unless the life tenant was also the grantor). But the QTIP election (made to avoid the terminable interest rule) causes this inclusion.

PROBLEM

	1.	ANS:	
	a.
	$7,700,000. $6,000,000 + $800,000 + $900,000 = $7,700,000.

	
	

	b.
	$7,540,000. $5,800,000 + $840,000 + $900,000 = $7,540,000.

	
	

	c.
	Regardless of whether § 2032 is elected, post-death income earned on estate assets is not taken into account. Thus, the income earned up to date of death is the amount included in the gross estate. The answer to part a. is $7,780,000 and part b. is $7,620,000.

	
	

	d.
	Yes. Because of the marital deduction, the estate tax would be zero if § 2032 could be elected. One of the conditions for electing the alternate valuation date is that it reduces the estate tax liability.




PTS:	1	DIF:	1	REF:	p. 18-6 | p. 18-7 | Example 7
OBJ:	3	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	2.	ANS:	
$260,000.  2 (number of donors) 2 (number of donees)  $13,000 (annual exclusion)  5 (number of years) = $260,000.

PTS:	1	DIF:	1	REF:	p. 18-13 | Example 24	
OBJ:	2	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	3.	ANS:	
$1,622,000. $800,000 (FMV of Taupe stock) + $40,000 (dividend on Taupe stock) + $780,000 (FMV of Boise bonds) + $42,000 (accrued interest) = $1,662,000.

PTS:	1	DIF:	2	REF:	Example 29 | Example 30
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	4.	ANS:	
$1,550,000. $950,000 (FMV of Green stock) + $600,000 (note receivable) = $1,550,000. The dividend is not included in the gross estate, as the record date is after Michael died. It is assumed that the value of the note is worth the face amount, as Addison appears to be doing well.

PTS:	1	DIF:	2	REF:	Example 30 | Example 31
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	5.	ANS:	
	a.
	$3,000,000. $1,200,000 + $700,000 + $900,000 + $200,000.

	
	

	b.
	$0. As all of these items pass to the decedent’s surviving spouse, they qualify for the marital deduction.

	
	

	c.
	$2,100,000. $1,200,000 + $900,000.




PTS:	1	DIF:	1	REF:	Example 32	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	10 min

	6.	ANS:	
$164,250. $100,000 (life insurance proceeds) + $64,250 (gift tax on gifts made within three years of death) = $164,250.

PTS:	1	DIF:	1	REF:	Example 35	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	7.	ANS:	
$3,000,000. Trust A is fully included in Ruby’s gross estate. Although Ruby also holds a life estate in Trust B, she was not the grantor. Consequently, § 2036 does not apply so as to force inclusion. As to Trust C, no tax consequences result since Ruby merely has a special power of appointment.

PTS:	1	DIF:	2	REF:	Example 36 | Example 37 | Example 52
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	8.	ANS:	
$800,000 (1/3  $2,400,000).

PTS:	1	DIF:	1	REF:	Example 40	OBJ:	6
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	5 min

	9.	ANS:	
	a.
	$2,400,000. (60%  $4,000,000).

	
	

	b.
	$2,000,000. (50%  $4,000,000).




PTS:	1	DIF:	2	REF:	p. 18-23 | p. 18-24	
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	10.	ANS:	
	a.
	When the tenancy was created, Andrea made a gift to Dale of $100,000 [$400,000 (Dale’s contribution) – $500,000 (value of Dale’s one-half interest in the property)].



	b.
	$1,000,000. (50%  $2,000,000).



	c.
	The only difference would be in part a. If Dale and Andrea are husband and wife, the $100,000 gift would be offset by the marital deduction.




PTS:	1	DIF:	2	REF:	p. 18-22 | Example 42 | Example 47
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	11.	ANS:	
	a.
	Murray has made a gift to Grace of $2,000,000.

	
	

	b.
	The gift still occurs, but it is offset by the marital deduction.

	
	

	c.
	As the policy has not matured, § 2042 does not apply. However, the policy is an asset owned by Murray and will be included in his gross estate under § 2033 at its replacement cost.




PTS:	1	DIF:	1	REF:	Example 56 | Example 60
OBJ:	6	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	12.	ANS:	
$3,150,000. $4,000,000 (gross estate) – $50,000 (church pledge) – $100,000 (local property taxes) – $700,000 (mortgage) = $3,150,000. The graduation gift is not supported by consideration and does not qualify as an obligation of the estate. A special rule provides otherwise as to unpaid church pledges. The casualty loss should be reported on Amber’s final Form 1040.

PTS:	1	DIF:	1	REF:	p. 18-27 | p. 18-28	
OBJ:	7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	13.	ANS:	
$3,500,000. $1,000,000 + (50%  $3,000,000) + (1/3  $3,000,000) = $3,500,000.

PTS:	1	DIF:	1	REF:	Example 32 | Example 42 | Example 46 | Example 60
OBJ:	7	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	14.	ANS:	
$40,000. 40%  $100,000.

PTS:	1	DIF:	1	REF:	Example 69 | Table 18.2
OBJ:	8	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

ESSAY

	1.	ANS:	
	a.
	This period favored lifetime giving over testamentary transfers. Separate tax rates existed, with those applicable to gifts being lower than those applicable to transfers by death.



	b.
	Under the unified transfer tax system enacted in 1976, little difference existed between life and death transfers. The tax rates were the same, and the same credit applied.



	c.
	EGTRRA of 2001 favors the estate tax. Although the tax rates are the same for lifetime and testamentary transfers, the estate tax is phased out over a period of time by increases in the exclusion amount.  TRA of 2010 was based on the premise that the estate and gift tax credits should again be the same (i.e., unified). At least for 2011 and 2012, both taxes will be subject to a maximum rate of 35% and have a unified credit of $1,730,800 (exemption equivalent of $5,000,000).




PTS:	1	DIF:	1	REF:	p. 18-2 | p. 18-3	
OBJ:	1	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	2.	ANS:	
	a.
	For 2011 and 2012, the credit for all Federal transfer taxes is $1,730,800.



	b.
	The unified transfer tax rates remain the same for both gift and estate taxes.



	c.
	The charitable and marital deductions have always been, and continue to be, available for both gift and estate tax purposes.

	
	

	d.
	The annual exclusion has always been, and continues to be, available only for gift tax purposes. 




PTS:	1	DIF:	1	REF:	Appendix A | Figure 18.1 | Figure 18.2 | Table 18.1
OBJ:	1 | 2 | 3	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	3.	ANS:	
The applicable exemptions and rates of the state inheritance tax probably are based on the relationship of the heir to the decedent. Consequently, whoever pays the lower tax is probably more closely related.

PTS:	1	DIF:	1	REF:	p. 18-3 | p. 18-4 | Footnote 10
OBJ:	1	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	5 min

	4.	ANS:	
In determining the gift tax base, all past taxable gifts are added to current taxable gifts. In the case of the estate tax base, only post-1976 taxable gifts are added.

PTS:	1	DIF:	1	REF:	Exhibit 18.1 | Exhibit 18.2
OBJ:	2 | 3	NAT:	AICPA FN-Measurement | AACSB Analytic
MSC:	10 min

	5.	ANS:	
Transactions such as gifts within three years of death or incomplete transfers (e.g., revocable trusts or trusts with a retained life estate) may cause inclusion in the gross estate of the assets involved.

PTS:	1	DIF:	1	REF:	p. 18-4	OBJ:	3
NAT:	AICPA FN-Measurement | AACSB Analytic	MSC:	10 min

	6.	ANS:	
Presuming Waldo is acting intelligently, he is probably sacrificing an estate tax saving to achieve the additional income tax basis that comes with the use of higher date of death valuation. Such additional basis could provide Waldo with an immediate income tax loss should he sell some of his mother’s assets. For assets retained, it generates greater depreciation deductions. Upon ultimate disposition of the assets, less gain (or more loss) results. Manipulating the gain in this manner could be particularly attractive if such gain would be ordinary (rather than capital).

PTS:	1	DIF:	1	REF:	p. 18-6 | p. 18-7 | Example 6
OBJ:	3	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	7.	ANS:	
Her mother might be her dependent and providing for the support of a dependent is not a gift. Even if she is not a dependent, under applicable state law, a child could have an obligation to provide support for an indigent parent, and satisfying an obligation of support is not a gift. Lastly, the nursing home might qualify as a medical facility. Payments for medical care are not subject to the gift tax.

PTS:	1	DIF:	1	REF:	p. 18-10	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	8.	ANS:	
Cliff has made a gift to Stella of the interest element. Cliff has interest income and Stella has an interest deduction. An annual exclusion is available for the gift component. Stella’s interest deduction is a deduction for AGI since the loan funds were business-related.

PTS:	1	DIF:	1	REF:	Example 17	OBJ:	4
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	9.	ANS:	
They probably would not be except for § 2516. Congress enacted this provision to exempt them from the gift tax by stipulating that such settlements are supported by consideration.

PTS:	1	DIF:	1	REF:	p. 18-9 | p. 18-11	
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	10.	ANS:	
This might be a good situation to make use of § 2518. Thus, Kelly could disclaim some of the $4,000,000 inheritance and, in effect, pass it to Belle free of any transfer tax to Kelly (i.e., estate or gift tax).

PTS:	1	DIF:	1	REF:	Example 19 | Example 20
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	11.	ANS:	
Income earned by § 529 plans is free of income tax if such funds are used for educational purposes. A donor to the plan can elect to use up to five years of annual exclusions (i.e., $65,000, or $130,000 with an election to split) for gift tax purposes. No inclusion in the gross estate occurs if the donor dies before plan distributions occur.

PTS:	1	DIF:	1	REF:	p. 18-13 | p. 18-14	
OBJ:	4	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	5 min

	12.	ANS:	
The credit allowed is for the prior gift taxes deemed paid and not actually paid. The deemed paid credit is the amount that would have been paid had current tax rates been in effect. Thus, it could be more or less than the amount actually paid.

PTS:	1	DIF:	1	REF:	p. 18-14	OBJ:	5
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	10 min

	13.	ANS:	
In community property jurisdictions, the election would be useful only if a spouse’s separate property was the subject of the gift. In common law states, the election is needed unless the property is jointly owned by the spouses.

PTS:	1	DIF:	1	REF:	p. 18-15 | Example 25 | Example  26
OBJ:	5	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	14.	ANS:	
	a.
	The proceeds pass under the terms of the governing instrument (e.g., pension plan, life insurance policy) and, therefore, they bypass probate.

	
	

	b.
	If the designated beneficiary is the estate, the proceeds become part of the probate estate. A payment to the estate may result when the primary beneficiary provision lapses (e.g., when the beneficiary predeceased).




PTS:	1	DIF:	1	REF:	p. 18-17 | p. 18-26	
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	15.	ANS:	
A surviving spouse’s portion of the community property is not included in the deceased spouse’s gross estate. The gross estate, however, is not adjusted for any dower interest. But to the extent it qualifies, a dower interest will generate a marital deduction.

PTS:	1	DIF:	1	REF:	p. 18-19	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	16.	ANS:	
In a community property jurisdiction, marital assets are equally divided in terms of ownership. If one spouse dies, for example, only one-half of these assets are subject to estate tax, as the other half is owned by the survivor. The marital deduction corrects the imbalance that could exist in a common law state by allowing a tax-free transfer of property between spouses.

PTS:	1	DIF:	1	REF:	p. 18-29 | p. 18-30 	
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	17.	ANS:	
Joint tenancies and tenancies by the entirety possess the right of survivorship. Since the survivor gets all of the property, nothing is left to include in the probate estate.

PTS:	1	DIF:	2	REF:	 p. 18-8 | p. 18-17 | p. 18-22
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	18.	ANS:	
Madison’s gross estate must include $1,000,000 (50% of $2,000,000) as to the land. Cole’s gift is treated as an equal contribution by each of his daughters.

PTS:	1	DIF:	2	REF:	Example 45	OBJ:	6
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	10 min

	19.	ANS:	
Even if Travis lives for three years and avoids § 2035, he has placed Alexis in a gift situation. Unless the beneficiaries are changed, she will make a gift to the children of $2,000,000 when Travis dies.

PTS:	1	DIF:	2	REF:	Example 35 | Example 56
OBJ:	6	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	20.	ANS:	
The marital deduction is based on the premise that husband and wife are a single economic unit. Thus, property can pass between spouses (either by gift or at death) free of any transfer tax. But once property leaves the family unit, any applicable transfer tax should be imposed. The purpose of the terminable interest rule is to preclude the avoidance of this final transfer tax. 

Example.  H dies and leaves his property in trust, life estate to W and remainder to their children.  W dies five years later.

Without the terminable interest rule, most of the trust would not be subject to an estate tax.  H would be allowed a marital deduction and W’s interest ceases at her death (§ 2036 does not apply as W was not the grantor of the trust).  Unless a QTIP election is made (or W is granted a general power of appointment), therefore, W has a terminable interest and H’s estate is not allowed a marital deduction.  With a QTIP election (or a general power of appointment), H’s estate receives the marital deduction and the trust is included in W’s gross estate.

PTS:	1	DIF:	2	REF:	Example 63 to 66	
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	21.	ANS:	
If Doyle’s executor made the QTIP election to obtain a marital deduction for Doyle’s estate, Grace’s gross estate must include the trust. If not, the trust is not included.

PTS:	1	DIF:	2	REF:	Example 63 | Example 66
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	22.	ANS:	
	a.
	A chief objective of the marital deduction is to defer the transfer tax to the surviving spouse. If the surviving spouse is not a U.S. citizen, the transfer tax can be avoided and the objective is not accomplished.

	
	

	b.
	By making use of a qualified domestic trust (QDT), the marital deduction becomes available. The QDT ensures that the IRS will have jurisdiction over the marital deduction property and can impose the deferred transfer tax when a later disposition occurs.




PTS:	1	DIF:	2	REF:	p. 18-32 | p. 18-33	
OBJ:	7	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	23.	ANS:	
	a.
	The facts specify that Laura left a modest “probate” estate. For Federal estate tax purposes, however, the “gross” estate is controlling. As noted on page 18-17 in the text, Laura’s gross estate well may be larger than her probate estate.

	
	

	b.
	If Laura’s death occurred within 10 years of her mother’s death, a credit for the tax on prior transfers may be available. The credit would enable Laura’s estate to reduce its tax liability by some of the estate taxes paid by the mother’s estate.




PTS:	1	DIF:	2	REF:	Example 68 | Example 69
OBJ:	6 | 8	NAT:	AICPA FN-Reporting | AACSB Analytic	
MSC:	10 min

	24.	ANS:	
	a.
	Due to the marital deduction, there is little, if any, estate tax on the death of the first spouse.

	
	

	b.
	If the marital deduction is not available (e.g., a terminable interest is involved), then an estate can materialize.




PTS:	1	DIF:	1	REF:	p. 18-34	OBJ:	8
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

	25.	ANS:	
The election to split by a married taxpayer can double the exemption allowed for GSTT purposes. For 2011, for example, the election could shelter as much as $10 million (2  $5,000,000) and later appreciation on this amount from the GSTT.

PTS:	1	DIF:	1	REF:	p. 18-38	OBJ:	9
NAT:	AICPA FN-Reporting | AACSB Analytic		MSC:	5 min

